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Outcome 2 - Solving Linear Inequalities

Bronze examples...

Examples...

Solve the following inequalities...

- 19 Add 2|

Divide by 7!

Get all the p's
on one side and
the numbers on

the otherl

8p+5<5p+23
-5p -5 -5p -5
<6
Divide by 3!
|

Silver examples

Gold examples

Examples...
Solve the following inequalities...
7-2x<15
-7 -7

—2x < ¢
= (-2)

Take away 7!
Divide by -2!
**When dividing by

a negative, you must
reverse the signl™*

Take away 12!

Divide by -4l

Bronze Questions

Solve the following inequalities...

-~ 3a+4<19 & 7c+5>33 L 9-3x<15
s 8t—3<45 & 45-2<10 = J5—-3p=220
e 12n-5=>7 & 8p+2>5p+11 5 4-3d<3
Z 8l+2<!1+23 B 6k-5>k-30 Z 9-5m>4

8 7-2>3/-38

Gold Questions

Solve the following inequalities..

x
= Z<3 =

3x+122 4
8 10
X X X
| 337t s 3
+5
Z 2x—1<x2 8

x+3 x-—-1
§8+4_

Equations & Inequalities

&3 8h-3<3b-38

& 4

Silver Questions

Solve the following inequalities...

Examples... **Eliminate fractions!**
Solve the following inequality...

x+5 x-3 Multiply
x4) 4 >2 ALL
2 4 through

4x+20  dx—12 AN
2 + 4 > ¢ of the

denominators!

2x+104+x—-3>8 Do the
division|
3x+7>8

-7 -7

3x>1
=3 =<3

Then solve as normall

1

x>

& 4

= 7 —4c<31
8 8§-2t=2
8 8—4s5<0

30-7w<-5 8 7-10n <-23
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Bronze Answers

W NO W

a<b
t<6
n>1
| <3
j>-9

Silver Answers

VN O W

r==2
p<-3
d=-9

m=1
w=35

Gold Answers

Equations & Inequalities

W NO W

x<12
x>5h
x> 24/5
x<7/3
x>13

10.

o N

10.

10.

oo RN

oo RN

REL 1-1c

a< -3
¢ = -6
r<3
§=1

n=3

x>9
x<11/4
x>9/2
x>-2
x<13/8
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